
10− 8− 6− 4− 2− 0 2 4 6 8 10
Vκ

1−10

1

10

210

310

410

510
 V

H
H

) 
(f

b)
→

(p
p 

σ
95

%
 C

L 
lim

it 
on

  

Observed          

Theory prediction

Median expected
68% expected    
95% expected    

CMS
 = 1λκ = 2Vκ

 (13 TeV)-1138 fb

10− 8− 6− 4− 2− 0 2 4 6 8 10
Vκ

210

310

410

510

610

710

810

 H
H

 (
in

cl
.)

) 
(f

b)
→

(p
p 

σ
95

%
 C

L 
lim

it 
on

  

Observed          

Theory prediction

Median expected
68% expected    
95% expected    

CMS
 = 1λκ = 2Vκ

 (13 TeV)-1138 fb


